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1) The value of ¥, for the shown circuit is Ty D 2 ¥ on= 07V
oV - . D
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2) In the shown circuit, the value of the current [ is —V VWV —
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3) The circuit to the right shows the 2.0KQ J

ac equivalent circuit of an amplifier. 39KQ
The transistor has an operating point

sp, Vsp)=(2.0 mA, 6.0 V). Vs
The parameters of the transistor are
K,=1.0 mA/V?, 3=0 V"' and

Vrp=-1.0 V. The small signal gain

vo/vs is equal to

+0

a) 7.800

b) -7.800 I, - 2=AlV

) 0.886 :
0.80

¢) 0.655
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4) What is the largest value of R; such that the
transistor remains on and saturated?
2.0MQ
a) 1.5KQ e .
b) 2.5 KQ Cranscebor 1y — Vmw=lov
¢)3.5KQ _ i Ky=1.0 mA/V
d) 4.5 KQ A > =0V
C e)Noneoftheabove) qud( ol o 3
3.0MQ R
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5) The current Isp is equal to - ﬁ’;} l % 20KQ
a) O0mA \l
b) 1.0mA S¢ = @7 -V, Vrp=1.0V
¢) I5mA .k _ j Kp=2.0 mA/V?
d) 2.5mA =% Y eavisrigshee \r Ow |: A=0V!
€) None of the above
I‘\Sb: Kp K\‘fb*\‘T k3 777
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6) For the shown circuit, if the resistor R, Izl R, 111 2.0KQ
is small enough, the current I, is
1.406 mA
) mA Vins=1.0V Van =10V
¢) 2.855 mA Kn=3.0 mA/V? | I Kn=lOmAl
d) 1.000 mA =0V A=0V
€) 3.367 mA ‘ I
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25.0kQ C=w
7) The diode in the shown circuit has
a reverse current I;=1.0e-12 A.
If the DC current [ is equal to 1.0 pA,
the total voltage v, appearing across the
diode is

b) 0.707 +0.0025 sinwt V
c) 0.345-0.0025 sinwtV
d) 0.707 -0.0025 sinw¢ V
e) 0.345+0.003 sinwtV

<
Dc 'A\Am\jJ\;~ XL = LJ €19 \%).:\y\/\)- 5, RQM ?f
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ﬂ D = \b\(\g) 1\3

v,=5.0 sin ot mV
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8) The source ¥, is a sinusoidal source with
an amplitude of 10 volts. The minimum and
maximum values of the output voltage V; are,
respectively,

a)-1.4V,43V
b)-43V,10V
¢)-5.7V, 10V
d)-5.7V, 1.4V
€)-1.4V,57V
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